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Sequence - 
Examples

Definition of an arithmetic mean:

2, 5, 8, 11, 14,...

-4, -11, -18,...
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tn = l = a + (n-1)d

a = 4, d = -4, n =20

a = -3, d = -2, tn= -21

a = 5, n = 20, l = -71

n = 15, d = 3, l = 28
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Determine the value of the 3rd term in a sequence if the 7th term = 14 and the 
12th term has a value of 29.

Find the terms that are located between the fourth having a value of 12 and the 
eighth with a value of 22.

                     4th                   8th
___ ___ ___ 6 ___ ___ ___ 22
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What is the average of the following: 
 4 and 30, 
-7 and 31

If the first term of the sequence is 8 and the third term is 20, find the 
second term.

If the first term of the sequence is -7 and the third term is 31, find the 
second term.
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Definition of an arithmetic mean:

Formula:
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